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.…BLM 21.…

(continued)


Name: ___________________________________________
Date: _____________________________

H4 – Remainder Theorem Practice

1.
Use long division to divide
x2  x  15 by x  4.

a)
Express the result in the form
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b)
Identify any restrictions on the variable.

c)
Write the corresponding statement that can be used to check the division.

d)
Verify your answer.


2.
Divide the polynomial 
P(x)  x4  3x3  2x2  55x  11 by x  3.

a)
Express the result in the form 
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b)
Identify any restrictions on the variable.

c)
Verify your answer.


3.
Determine each quotient using long division.

a) (3x2  13x  2)  (x  4)

b) 
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c) (2w4  3w3  5w2  2w  27) (w  3)

4.
Determine each remainder using long division.

a) (3w3  5w2  2w  27) (w  5)

b) 
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c) (3x2  13x  2)  (x  2)

5.
Determine each quotient using synthetic division.

a) (4w4  3w3  7w2  2w  1)  (w  2)

b) 
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c) (5y4  2y2  y  4)  (y  1)


6.
Determine each remainder using synthetic division.

a) (3x2  16x  5)  (x  5)

b) (2x4  3x3  5x2  6x  1) (x  3)

c) (4x3  5x2  7)  (x  2)

7.
Use the remainder theorem to determine the remainder when each polynomial is divided by x  2.

a) 4x4  3x3  2x2  x  5

b) 7x5  5x4  23x2  8

c) 8x3  1


8.
Determine the remainder resulting from each division.

a) (3x3  4x2  6x  9)  (x  1)

b) (3x2  8x  4)  (x  2)

c) (6x3  5x2  7x  9)  (x  5)


9.
For (2x3  5x2  k x  9)  (x  3), determine the value of k if the remainder is 6.


10.
When 4x2  8x  20 is divided by x  k, the remainder is 12. Determine the value(s)
of k.
Answers:

1. a)
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  b) x ≠ 4
c) x2  x  15  (x  4)(x  3)  3

d) To check, multiply the divisor by the quotient and add the remainder.
2. a) 
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b) x ( 3  c) To check, multiply the divisor by the quotient and add the remainder.

3. a) 3x  1  b) 2x2  20x + 85  c) 2w3  3w2  4w  10

4. a) 233  b) 7  c) 36

5. a) 4w3  5w2  3w  4  b) x3  4x2  5
c) 5y3  5y2  7y  8
6. a) 0  b) 179  c) 
7. a) 25  b) 44  c) 65
8. a) 22  b) 0  c) -831

9. 2

10. -4 and 2
[image: image1.wmf]()

()

PxR

xa

xa

Qx

-

-

=+

Copyright © 2011, McGraw-Hill Ryerson Limited, a subsidiary of the McGraw-Hill 
Companies. All rights reserved. This page may be reproduced for classroom use by the 
purchaser of this book without written permission of the publisher. ISBN: 978-0-07-109106-0

Copyright © 2011, McGraw-Hill Ryerson Limited, a subsidiary of the McGraw-Hill 
Companies. All rights reserved. This page may be reproduced for classroom use by the 
purchaser of this book without written permission of the publisher. ISBN: 978-0-07-109106-0


_1359818921.unknown

_1359818931.unknown

_1360218004.unknown

_1360223356.unknown

_1359819805.unknown

_1359818927.unknown

_1359818917.unknown

